
 

��������

��	
��
	�����������

����������	
���

���
������	
����������������������������� ���!�����
"�
��#�$�%&'�&�
�������������������(���!��
)�

�*���!��������������������������
�*+��,��
�

� �
�
"�
��#�$�%&'�&��������������������
�

�� ($�� 	!������&���-+�*
���+��$

�����
�� ($�� 	!������&���-+�*
���+���+���

        � � ($� �+��.��%��
��� ($� �����)�%���)���*�/���
��� ($� '

���������,0�������
X² ($� �+��1�*��23456789:;�
	� ($� �����+�	��,0��

� ($� �
��!��
"$���1�*�$�%���
)��<=<>�

��
�������� ($� �+������
�?
�@�������������
�

��	��������	
��
	�����������

���������������������������������	
����$!����()+�����!�������������������������
����,0��A��+���
���
�

��
�������
��
	���������������	����	��� 	���!����	�"#
��$���%�	�&	������(�+��?�B�
���-B��1��C�?�������B����
)��������B���'�?�(���������.��%�*+���D��� ����@����(	�(	�
����1�%�������EF;:G;HI9J;K�(���+�/�������ELMN;K�	�����������())��)1�����$�%�O5P� (���
�!�����������&���,���*�����(��(,��� �����)������

�

�



 

�   

AP�

��
�����'�
��
	�����������(%%)*��	 ���������� ����	�	�"#
��$���%�	�&	����!

����	�"#
����*C
#Q�B����B����	
�	!���+��B(�������+���������*���� ����@�������+��.��%��EL;9HK�
�+������)�%���)���*�/���ERI9HN9:N� N;S49I4MHK�	�����������())��)1�����$�%�T5UO� (���
�!�����������&���,���*�����(��(,��� �����)������

��
�����+�
��
	�����������(%%)*������� ����	�	�"#
��$���%�	�&	����!����	�"#
� ��
��@����(	�(	�����1�%�������EF;:G;HI9J;K�(���+�/�������ELMN;K�	�����������())��)1�����
$�%�UU5V<�(����!�����������&���,���*�����(��(,��� �����)������

��
������������

��, � ��!$- ��		���	�	�"#
��$���%�	�&	����!����	�"#


%.�,�� ���(%%)*�����	����	��� 	�����(�+��?�B����-B��1��C�?�������B����
)��������B�
��'�?�(���������.��%�*+���D��� ��&'��1�*�$���)�23456789:;�	�����������())��)1�����$�%��
O5P��(������$�%�UU5V<�(����!�����������&���,���*�����(��(,��� �����)������

���
�����/������

���)�$)�0�	��
��!$- ��		���	�	�"#
��$���%�	�&	����!

����	�"#
%.�,�� ���(%%)*��!��	 �������(�+���*C
#Q�B�����B����	
�	!���+��B�(������+������
���*���� ��&'��1�*�$���)�23456789:;�(��&'����
������������������
�?
�@��	�����������
())��)1�����$�%�T5UO�(������$�%�UU5V<�(����!�����������&���,���*�����(��(,��� �����
)������

�

�

�

�

�

�

�

�

�

�

�

�

�

�



 

�   

AT�

��
�������
��
	���������������	����	��� 	���!����	�"#
��$���%�	�&	���
�$��

 �	�!������,��!

��1��,��	��*����2�� )
�*��!%.�,�� ���$��

�$�� %.��
��3
�4� 	��*��� 5����*��

'��� OTP� AA=<� 5�
�"��� UAA� >P=<� W�

	
�� �66� �66� �

�

	��*����$�%�O�	!�(��*���?�?)�+�����)�� C���?���	��������&�	
���
�'�)-���	��
*
���+��	!�����A<<�����,0��?�'��	!����� OTP��������,0��������AA=<�(���,0��?��"��	!�����
UAA��������,0��������>P=<��+�/��������D��+����������$�%������1�%����-���D���?��"���
�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�



 

�   

AX�

��*2�

 �	�!����'�,��!

��1��,��	��*����2�� )
�*��!%.�,�� ����*2�

��*2� %.��
��3
�4� 	��*��� 5����*��

��+�����U<�,Y� TU� OX=<� 5�
���-�UO5V<�,Y� ZU� UV=<� 5�
���-�VO5A<�,Y� OVP� VA=<� W�
���-�AO�,Y��
��,� O<<� U>=<� 5�

	
�� �66� �66� �

�
	��*����$�%�U�	!�(��*�����-?)�+�����)�� C���?���	��������&�	
���
�'�)-���	��

*
���+��	!�����A<<���������-��+�����U<�,Y	!����� TU��������,0��������OX=<� � �����-�UO5V<�,Y
	!�����ZU��������,0��������UV=<������-�VO5A<�,Y	!�����OVP��������,0��������VA�=<(�������-�AO�
,Y��
��,	!�����O<<��������,0��������U>=<��+�/��������D��+����������$�%������1�%����-���D�����-�
VO5A<�,Y�
�

�

�

�

�

�

�

�

�

�

�

�

�

�



 

�   

AZ�

�1��#�$��	��	��

 �	�!����+�,��!

��1��,��	��*����2�� )
�*��!%.�,�� ���1��#�$��	��	��

�1��#�$��	��	�� %.��
��3
�4� 	��*��� 5����*��

 ��� U<X� >U=<� W�
����� OAX� VT=<� 5�
������[���+������[�(���
����+� AA� OO=<� 5�

	
�� �66� �66� �

�
	��*����$�%�V�	!�(��*���1��C�?�������?)�+�����)�� C���?���	��������&�

	
���
�'�)-���	��*
���+��	!�����A<<�������1��C�? ��	!����� U<X��������,0��������>U=<� ��
�1��C�?����	!�����OAX��������,0��������VT=<�(�����1��C�?������[���+������[�(���
����+
	!�����AA� ��� ����,0�������� OO=<��+�/��������D��+����������$�%������1�%����-���D���1��C�?
 ���
�

�

�

�

�

�

�

�

�

�

�

�

�

�

�



 

�   

><�

	��)���	�7�8��

 �	�!������,��!

��1��,��	��*����2�� )
�*��!%.�,�� ��	��)���	�7�8��

	��)���	�7�8�� %.��
��3
�4� 	��*��� 5����*��

��+�����
@��*��� OU� V=<� 5�
�
@��,����[�,�'=�[�,��=� OAA� VP=<� 5�
,��""�*��� OZU� AX=<� W�
�����+�,��""�*��� >U� OV=<� 5�

	
�� �66� �66� �

�
	��*����$�%�� A��	!�(��*�����
)��������?)�+�����)�� C���?���	��������&�	
���
�

'�)-���	��*
���+��	!�����A<<���������
)����������+�����
@��*��	!����� OU��������,0��������
V=<� �����
)���������
@��,����[�,�'=� [�,��=	!����� OAA� �������,0��������VP=<� �����
)
��������,��""�*��	!����� OZU��������,0��������AX=<� (�������
)�������������+�,��""�*��
	!�����>U� ��� ����,0�������� OV=<� �+�/��������D��+����������$�%������1�%����-���D�� ���
)
��������,��""�*���
�

�

�

�

�

�

�

�

�

�

�

�

�



 

�   

>O�

����$�

 �	�!����/�,��!

��1��,��	��*����2�� )
�*��!%.�,�� ������$�

����$� %.��
��3
�4� 	��*��� 5����*��

�
������[�
������� O<A� UP=<� 5�
�����'����[�?�
�����
/�������	� ZP� UA=<� 5�
?�
����)���
$���'�[�
)	���� OVP� VA=<� W�
�������[�@-���	�+��*
�� PA� OP=<� 5�

	
�� �66� �66� �

�
	��*����$�%�>�	!�(��*����'�??)�+�����)�� C���?���	��������&�	
���
�'�)-���	��

*
���+��	!�����A<<��������'�?�
������[�
������	!����� O<A��������,0��������UP=<� � ����'�?
�����'����[�?�
�����
/�������		!����� ZP��������,0��������UA� ����'�??�
����)���
$���'�[
�
)	���	!�����OVP��������,0��������VA�=<(������'�?�������[�@-���	�+��*
�	!�����PA��������,0�
������� OP=<� �+�/��������D��+����������$�%������1�%����-���D�� ��'�??�
����)���
$���'��[�
�
)	����
�

�

�

�

�

�

�

�

�

�

�

�

�



 

�   

>U�

	�*&���9���* ����:���

 �	�!����;�,��!

��1��,��	��*����2�� )
�*��!%.�,�� ��	�*&���9���* ����:���

	�*&���9���* ����:��� %.��
��3
�4� 	��*��� 5����*��

��+�����>B<<<�)�$� O<X� UT=<� 5�
>B<<O5O>B<<<�)�$� OP<� A<=<� W�
O>B<<O5U>B<<<�)�$� >U� OV=<� 5�
U>B<<O5V>B<<<�)�$� >P� OA=<� 5�
V>B<<O�)�$��
��,� UA� P=<� 5�

	
�� �66� �66� �66�

�
�	��*����$�%�P�	!�(��*���������.��%�*+���D��?)�+�����)�� C���?���	��������&�

	
���
�'�)-���	��*
���+��	!�����A<<�������������.��%�*+���D����+�����>B<<<�)�$	!�����O<X����
����,0��������UT� ���������.��%�*+���D��>B<<O5O>B<<<� )�$	!����� OP<��������,0��������A<� ��
�������.��%�*+���D��O>B<<O5U>B<<<� )�$	!����� >U��������,0��������OV����������.��%�*+���D��
U>B<<O5V>B<<<�)�$	!����� >P��������,0��������OA�(�����������.��%�*+���D��V>B<<O�)�$��
��,
	!�����UA� �������,0�������� P� �+�/��������D��+����������$�%������1�%����-���D�� �������.��%�*+�
��D���>B<<O5O>B<<<�)�$�
�������������������

�

�

�

�

��

�



 

�   

>V�

��
�����'�
��
	�����������(%%)*������	 ���������� ������	�"#
��$���%�	�&	���

�(%%)*������	 ����

 �	�!����<�,��!
���9���*,��
��

������*!����� 	5���(%%)*������	 ����

�=��66��(%%)*������	 ���������� ����	�	�"#
��

$���%�	�&	��� � � ���

	��)�



���.�
)>�

�.��)�����

�(%%)*������� #)?@�� +ABC6� 6A/�6� ���� +�

�(%%)*����	�
�� +A</C� 6A�+B� ���� ��

�(%%)*�������!��!��	%)�%.�����*� �A'++� 6A�C;� ���� ��

�(%%)*������	��!��	����	 ���� �A6�C� 6A6�C� ���� '�

�(%%)*"�*	
�������	 ���� +ABBB� 6A��<� ���� �

�
	��*����$�%�T�,\		
��������*���$�%����*+����)�� C���?���	������� �����?)�+���

���������]����+&����
)����E � � ^� V=ZZZK���D%�?�	��#��,0���������?)�+�� $-��������+��.��%����
���
)���������]����+&����
)���$

��A���������(�+�,\		
�����'+��$�����	
�	!���+���E � �^�A=UVVK�
�,0��!��
)$�%�O�,\		
���������+���������*���� E � ^� A=<OXK� �,0��!��
)$�%�U��,\		
��������*C
#Q������
E � ^�V=ZX<K��,0��!��
)$�%�V�(��,\		
����������E � �^�V=T>XK��,0��!��
)$�%�A�
�

�

�

�

�

�

�

�

�

�

�

�



 

�   

>A�

�(%%)*������� #)?@��

 �	�!����C�,��!
���9���*,��
��

������*!����� 	5���(%%)*������� #)?@��

��=��66��(%%)*������� #)?@�������� ����	�	�"#
��

$���%�	�&	��� � � ���

	��)�



���.�
)>�

�.��)�����

<=PTA�
<=PPV�
���<=PVT�
<=P<T�

����
����
����
����

��'�*����'��&���
),��$���
)��	-C
#Q���������+���&	�
���������-#C�?���
��,�� �'��*+��-�C�?�
��D��_D
�	��*��������$�%���&	�

A=OV�
V=XZ�
A=UA�
A=A>�
V=XV� <=PX<� ����

V�
A�
U�
O�
>�

�(%%)*"�*	
�������� #)?@�� +ABC6� 6A/�6� ���� �

�
	��*����$�%�X�,\		
����*����������*C
#Q�$�%����*+����)�� C���?���	���������

?)�+�,\		
��������*C
#Q�$-�,\		
������
)�����!��
"������D%�?�	��#��,0���������?)�+��$-�����
���+��.��%�������
)���������]����+&����
)�������(�+�������,�� �'��*+��-�C�?�E � � ^� A=A>K�
�,0��!��
)$�%�O��������������-#C�?���E � � ^� A=UAK� �,0��!��
)$�%�U�������'�*���'��&���
),��$���
E � �^A=OVK��,0��!��
)$�%�V�����)��	-C
#Q���������+���&	� E � �^� V=XZK� �,0��!��
)$�%�A��(�������
��D��_D
�	��*��������$�%���&	E � �^V=XVK��,0��!��
)$�%�>�

��
�

�

�

�

�

�

�

�

�

�



 

�   

>>�

�(%%)*����	�
��

 �	�!����B�,��!
���9���*,��
��

������*!����� 	5���(%%)*����	�
��

��=��66��(%%)*����	�
�������� ����	�	�"#
��$��

�%�	�&	��� � � ���

	��)�



���.�
)>�

�.��)�����

���������?���	��������������(���� V=XT� <=>A>� ���� O�
���������?���	�������*%!���+����D%���D%�
,���C$�D%� �̀

V=AT� <=PPX� ���� V�

�����������*�� ����(���$����*+�� �̀ V=P>� <=>P>� ���� U�
�(%%)*"�*	
�����	�
�� +A</C� 6A�+B� ���� �

�
	��*����$�%�Z�,\		
����*�����������$�%����*+����)�� C���?���	��������?)�+��

,\		
���������$-�,\		
������
)�����!��
"������(�+��������������?���	��������������(����
E � �^V=XTK���,0��!��
)$�%�O����������������*�� ����(���$����*+�� �̀E � �^�V=P>K��,0��!��
)$�%�
U��(���������������?���	�������*%!���+����D%���D%�,���C$�D%� �̀�E � �^�V=ATK��,0��!��
)$�%�V��
�

�

�

�

�

�

�

�

�

�

�

�

�

�

�



 

�   

>P�

�(%%)*�������!��!��	%)�%.�����*�

 �	�!�����6�,��!
���9���*,��
��

������*!����� 	5����2�� )
�*��!%.�,�� ���(%%)*�������!

��!��	%)�%.�����*�

��=��66��(%%)*�������!��!��	%)�%.�����*������� ����	

�	�"#
��$���%�	�&	��� � � ���

	��)�



���.�
)>�

�.��)�����

��_D
�����+�����������	!���+��$
%��,� A=VV� <=P><� ���� O�
��������	!���+��&���)���� V=ZZ� <=PPU� ���� V�
	!���������������+������*���� A=OA� <=>T<� ���� U�
�(%%)*"�*	
��������!��!��	%)�%.�����*� �A'++� 6A�C;� ���� �

�
	��*����$�%�O<�,\		
����*�������'+��$�����	
�	!���+��$�%����*+����)�� C���?��

�	��������?)�+��,\		
�����'+��$�����	
�	!���+��$-�,\		
�������
)�����!��
"�������(�+�����
��������_D
�����+�����������	!���+��$
%��,�E � �^�A=VVK��,0��!��
)$�%O�����	!���������������+���
���*����E � �^�A=OAK��,0��!��
)$�%�U�������������������	!���+��&���)����E � �^�V=ZZK��,0��!��
)$�%�V�
�

�

�

�

�

�

�

�

�

�

�

�

�

�

�



 

�   

>T�

�(%%)*������	��!��	����	 ����

 �	�!�������,��!
���9���*,��
��

������*!����� 	5����2�� )
�*��!%.�,�� ���(%%)*������	

��!��	����	 ����

�

��=��66��(%%)*������	��!��	����	 ���������� ��

��	�	�"#
��$���%�	�&	��� � � ���

	��)�



���.�
)>�

�.��)�����

�����]� a�#�$���D%�*+�� �̀ A=<O� <=TAU� ���� U�
���������+�������������E ,� �'
%�K� V=X<� <=PT<� ���� A�
�� a�#�$�%�+���&	� V=ZP� <=>ZZ� ���� V�
������#����	����+���������
/&��)�� C�
���

A=<V� <=TX<� ���� O�

�(%%)*"�*	
�������	��!��	����	 ���� �A6�C� 6A6�C� ���� �

�
	��*����$�%�OO�,\		
��������*�����������+���������*���$�%����*+����)�� C���

?���	��������?)�+��,\		
���������+���������*���$-�,\		
������
)�����!��
"�������(�+������
����#����	����+���������
/&��)�� C����E � �^�A=<VK� �,0��!��
)$�%�O����������]� a�#�$��
�D%�*+�� �̀E � �^�A=<OK��,0��!��
)$�%�U������� a�#�$�%�+���&	�E � �^�V=ZPK��,0��!��
)$�%�V��(��������
�������+�������������E ,� �'
%�K�E � �^V=X<K��,0��!��
)$�%�A��

�

�

�

�

�

�

�

�



 

�   

>X�

��
�����+�
��
	�����������(%%)*������� ����	�	�"#
��$���%�	�&	����!����	�"#
�

�� 2�������:���:����$���%�	�&	���

 �	�!�����'�,��!

��1��,��	��*�� ���� 2�������:���:����$���%�	�&	���

�� 2�������:���:����$���%�	�&	��� %.��
��3
�4� 	��*��� 5����*��

'�)��'�*�� OVX� VA=>� 5�
'�) a�#�� AX� OU=<� 5�
��,�� �'��*+��-�C�?� O>T� VZ=V� W�
���)��
���D��?D%��'��&���D%�� >T� OA=V� 5�

	
�� �66� �66� �

�
	��*����$�%�OU�	!�(��*����*-��$�%��D���D%���?���	�������?)�+�����)�� C���?��

�	��������&�	
���
�'�)-���	��*
���+��	!�����A<<������*-��'�)��'�*�	!�����OVX��������,0�
�������VA=>� ��*-��'�) a�#�	!�����AX��������,0��������OU� ��*-����,�� �'��*+��-�C�?
	!�����O>T��������,0��������VZ=V�(����*-�����)��
���D��?D%��'��&���D%�	!�����>T� ��� ���
�,0��������OA=V��+�/��������D��+����������$�%������1�%����-���D����*-����,�� �'��*+��-�C�?�

�

�

�

�

�

�

�

�

�

�

�

�



 

�   

>Z�



��1��D���	�	�"#
��$���%�	�&	���

 �	�!�����+�,��!

��1��,��	��*�� ��

��1��D���	�	�"#
��$���%�	�&	���



��1��D���	�	�"#
��$���%�	�

&	���

%.��
��3
�4� 	��*��� 5����*��

������+��O���

�*+��
,����� PV� O>=X� 5�
O5U���

�*+��
,����� XA� UO=<� 5�
V5A���

�*+��
,����� OAX� VT=<� W�
>5P���

�*+��
,����� PX� OT=<� 5�
�����+��P���

�*+��
,����� VT� Z=V� 5�

	
�� �66� �66� �

�

	��*����$�%�OV�	!�(��*������1�%&����)�� C���?���	�������?)�+�����)�� C���?��
�	��������&�	
���
�'�)-���	��*
���+��	!�����A<<��������1�%������+��O���

�*+��
,����	!�����PV�
�������,0��������O>=X� ����1�%�O5U� ��

�*+��
,����	!�����XA��������,0��������UO=<� ����1�%�V5A�
��

�*+��
,����	!�����OAX��������,0��������VT=<� ����1�%� >5P� ��

�*+��
,����	!�����PX�������
�,0��������OT=<�(������1�%�����+��P���

�*+��
,����	!�����VT��������,0��������Z=V��+�/������
��D��+����������$�%������1�%����-���D������1�%�V5A���

�*+��
,�����

�

�

�

�

�

�

�

�

�

�



 

�   

P<�


��D��%��* ����:��D���	�	�"#
��$���%�	�&	���

 �	�!�������,��!

��1��,��	��*�� ��
��D��%��* ����:��D���	�	�"#
��$���%�	�&	���


��D��%��* ����:��D���	�	�"#
��

$���%�	�&	���

%.��
��3
�4� 	��*��� 5����*��

������+��O<<�)�$� PU� O>=>� 5�
O<O5U<<�)�$� ZU� UV=<� W�
U<O5V<<�)�$� XX� UU=<� 5�
V<O5A<<�)�$� XT� UO=X� 5�
�����+��A<<�)�$� TO� OT=X� 5�

	
�� �66� �66� �

��

	��*����$�%�OA�	!�(��*���+�&'�	+��*+���D��&����)�� C���?���	�������?)�+��
���)�� C���?���	��������&�	
���
�'�)-���	��*
���+��	!�����A<<�����+�&'�	+��*+���D��������+��
O<<�)�$	!�����PU��������,0��������O>=>��+�&'�	+��*+���D���O<O5U<<�)�$	!�����ZU��������,0�
�������UV=<� �+�&'�	+��*+���D���U<O5V<<� )�$	!�����XX��������,0��������UU=<� �+�&'�	+��*+���D���
V<O5A<<�)�$	!�����XT��������,0��������UO=X�(���+�&'�	+��*+���D�������+��A<<�)�$	!�����TO�
��� ����,0�������� OT=X� �+�/��������D��+����������$�%������1�%����-���D���+�&'�	+��*+���D��� O<O5
U<<�)�$�

�

�

�

�

�

�

�

�

�



 

�   

PO�

�������E:F���$���%�	�&	����G��	�%.��

 �	�!�����/�,��!

��1��,��	��*�� ���������E:F���$���%�	�&	����G��	�%.��

�������E:F���$���%�	�&	����G�

�	�%.��

%.��
��3
�4� 	��*��� 5����*��

U<<�_�_�� OZ<� AT=>� W�
A><�_�_�� OUA� VO=<� 5�
XV<�_�_�� A<� O<=<� 5�
UB<<<�_�_�� AP� OO=>� 5�

	
�� �66� �66� �

�
	��*����$�%�O>�	!�(��*������$�%_D
���?���	��������,0�,��	!�?)�+�����)�� C���

?���	��������&�	
���
�'�)-���	��*
���+��	!�����A<<��������� U<<�_�_�	!�����OZ<��������,0�
�������AT=>� �����A><� _�_�	!�����OUA��������,0��������VO=<� �����XV<� _�_�	!����� A<�������
�,0��������O<=<�(�������UB<<<�_�_����D��U���*�	!�����AP� ��� ����,0�������� OO=>� �+�/������
��D��+����������$�%������1�%����-���D�������U<<�_�_��

�

�

�

�

�

�

�

�

�

�

�

�

�



 

�   

PU�

�1�������:��E:F���$���%�	�&	���

 �	�!�����;�,��!

��1��,��	��*�� ���1����:��E:F���$���%�	�&	���

�1�������:��E:F���$���%�	�&	��� %.��
��3
�4� 	��*��� 5����*��

���������_D
�� OAV� V>=X� W�
�������$
%��,� ZP� UA=<� 5�
_-,�,���������]*�[��������?������� OOU� UX=<� 5�
�1�������� A<� O<=<� 5�
�D%� �̀ Z� U=V<� 5�

	
�� �66� �66� �

�
	��*����$�%�OP�	!�(��*���1��$�%��D��_D
���?���	�������?)�+�����)�� C���?���	���

�����&�	
���
�'�)-���	��*
���+��	!�����A<<�������������_D
�	!����OAV���������,0��������
V>=X��������$
%��,	!�����ZP���������,0��������UA�_-,�,���������]*�[��������?������	!�����OOU��
�������,0��������UX��1�������	!�����A<���������,0��������O<�(���1��$�%�D%� 	̀!�����Z� ���
����,0��������U=V��+�/��������D��+����������$�%������1�%����-���D�����������_D
��

�

�

�

�

�

�

�

�

�

�

�

�

�



 

�   

PV�

*����������:��E:F���$���%�	�&	���

 �	�!�����<�,��!

��1��,��	��*�� ��*����������:��E:F���$���%�	�&	���

*����������:��E:F���$���%�	�&	��� %.��
��3
�4� 	��*��� 5����*��

��	�� PT� OP=X� 5�
 b�� ���*� O>>� VX=X� W�
�
'������ O<X� UT=<� 5�
 '�'
�� AO� O<=V� 5�
�D%� �̀ UZ� T=V� 5�

	
�� �66� �66� �

�
	��*����$�%�OT�	!�(��*����%���$�%��D��_D
���?���	�������?)�+�����)�� C���?���	���

�����&�	
���
�'�)-���	��*
���+��	!�����A<<������%�����	�	!�����PT��������,0��������OP=X� ��%���
 b�� ���*	!�����O>>��������,0��������VX=X� ��%����
'�����	!�����O<X��������,0��������UT=<�
��%��� '�'
�	!�����AO��������,0��������O<=V�(����%����D%� 	̀!�����UZ� �������,0�������� T=V� �+�
/��������D��+����������$�%������1�%����-���D����%��� b�� ���*�

�

�

�

�

�

�

�

�

�

�

�

�

�



 

�   

PA�

	��� ������*��	�"#
��$���%�	�&	���

 �	�!�����C�,��!

��1��,��	��*�� ��	��� ������*��	�"#
��$���%�	�&	���

	��� ������*��	�"#
��$���%�	�

&	���

%.��
��3
�4� 	��*��� 5����*��

��	D�� OAT� VP=X� W�
������� OOV� UX=V� 5�
��']�� �(�*� PA� OP=<� 5�
���*���)���%� >P� OA=<� 5�
�D%� �̀ U<� >=<� 5�

	
�� �66� �66� �

�

	��*����$�%�OX�	!�(��*����'�*�$�%����)�� C���?���	�������?)�+�����)�� C���?��
�	��������&�	
���
�'�)-���	��*
���+��	!�����A<<������	D�	!�����OAT��������,0��������VP=X�
������	!�����OOV��������,0��������UX=V���']�� �(�*	!�����PA��������,0��������OP=<���
�*����)���%	!�����>P��������,0��������OA=<�(���D%� 	̀!�����U<��������,0��������>=<��+�/��
������D��+����������$�%������1�%����-���D����	D��

�

�

�

�

�

�

�

�

�

�

�



 

�   

P>�

�:��"H8?�����*
�)���$���%�	�&	���

 �	�!�����B�,��!

��1��,��	��*�� ���:��"H8?�����*
�)���$���%�	�&	���

�:��"H8?��������*
�)���$���%�	�

&	���

%.��
��3
�4� 	��*��� 5����*��

 $�$
���� VOO� TT=X� W�
��$�-� UA� P=<� 5�
��
��D�?��?�� VU� X=<� 5�
,c�� a�#�� OU� V=<� 5�
�D%� �̀ UO� >=V� 5�

	
�� �66� �66� �

�
	��*����$�%�OZ�	!�(��*���D%� a�#�$�%���%���
)��?���	�������?)�+�����)�� C���?��

�	��������&�	
���
�'�)-���	��*
���+��	!�����A<<����	���D%� $�$
���	!�����VOO��������,0�����
���TT=X� 	���D%���$�-	!�����UA��������,0��������P=<� 	���D%���
��D�?��?�	!�����VU��������,0�
�������X=<�	���D%�,c�� a�#�	!�����OU��������,0��������V=<� �(���D%� 	̀!�����UO� ��� ����,0�
�������>=V��+�/��������D��+����������$�%������1�%����-���D��	���D%� $�$
����

�

�

�

�

�

�

�

�

�

�

�

�



 

�   

PP�

"H8?����� ����	�	�"#
��$���%�	�&	���

 �	�!����'6�,��!

��1��,��	��*�� ��"H8?����� ����	�	�"#
��$���%�	�&	���

"H8?����� ����	�	�"#
��$��

�%�	�&	���

%.��
��3
�4� 	��*��� 5����*��

)�� C�������� UX� T=<� 5�
)�� C��$+������ UUX� >T=<� W�
)�� C������
�� OAA� VP=<� 5�

	
�� �66� �66� �

�

	��*����$�%�U<�	!�(��*�� a�#�����*+����)�� C���?���	�������?)�+�����)�� C�
��?���	��������&�	
���
�'�)-���	��*
���+��	!�����A<<����)�� C�������	!�����UX�������
�,0��������T=<�)�� C��$+�����	!�����UUV��������,0��������>T=<��(��)�� C������
�	!�����OAA�
�������,0��������VP=<��+�/��������D��+����������$�%������1�%����-���D��)�� C��$+������

��
��
�

�

�

�

�

�

�

�

�

�

�

�

�



 

�   

PT�

��
�������������

��, � ��!$- ��		���	�	�"#
��$���%�	�&	����!����	�"#


%.�,�� ���(%%)*�����	����	��� 	���
�
���2 �5������������	�"#
������$� ��!�)���$- ��		���	�	�"#
��$���%�	�&	��

, � ��!�)��
�
�
�^����)�� C�$�%���?�*+���
���?d*��������)�� C���?���	���������+(*�*+���
��

�
�
�^����)�� C�$�%���?�*+���
���?d*��������)�� C���?���	�������(*�*+���
��
�

 �	�!����'��
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	����

������ 2�������:���:��%.�,�� ���$��

�

��*-��$�%��D���D%�� � �?�� � �
� � � '��� �"��� ���� �
'�)��'�*�� � � AA� ZA�������� OVX� �
'�) a�#�� � � U>� UV� AX� �
��,�� �'��*+��-�C�?� � � TV� XA� O>T� �
���)��
���D��?D%��'��&���D%�� � � VA� UV� >T� �

���� � OTP� UVA� A<<� �
X² (df=3) =15 .557�;�Wp = .001 � � � � � �
Wp�e�=<>�

	��*����$�%�UO����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	��������������*-��$�%��D���D%�	!�(��*���?��?)�+�(*�*+���
���+�����
��!��
"$���1�*�$�%���
)�
=<>������	����-,�+�,f���@��

�
�(�������
)�

�
��

�

�

�



 

�   

PX�

 �	�!����''�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

����

��1��D���	�	�"#
%.�,�� ���$��

�

����1�%&����)�� C�� � �?�� � �
� � � '��� �"��� ���� �
������+��O���

�*+��
,����� � � VT� UP� PV� �
O5U���

�*+��
,����� � � AV� AO� XA� �
V5A���

�*+��
,����� � � >Z� XZ� OAX� �
>5P���

�*+��
,����� � � U<� AX� PX� �
�����+��P���

�*+��
,����� � � OT� U<� VT� �

���� � OTP� UUA� A<<� �
X² (df=4) = 14.267;�Wp = .006 � � � � � �
Wp�e�=<>�

�	��*����$�%�UU����������������,���)�$��)����(*�*+������+��?d*��������)�� C�
��?���	���������������1�%&����)�� C�	!�(��*���?��?)�+����(*�*+���
���+�����
��!��
"$��
�1�*�$�%���
)�=<>��������	����-,�+���,f���@��

�
�(������
)��

�
�(����+���

�

�

�

�

�

�

�

�



 

�   

PZ�

 �	�!����'+�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

����
��D��%��* ����:��D���	�	�"#
%.�,�� ���$��

�

�+�&'�	+��*+���D��&����)�� C�� � �?�� � �
� � � '��� �"��� ���� �
������+��O<<�)�$� � � VU� V<� PU� �
O<O5U<<�)�$� � � >T� V>� ZU� �
U<O5V<<�)�$� � � AU� AP� XX� �
V<O5A<<�)�$� � � OX� PZ� XT� �
�����+��A<<�)�$� � � UT� AA� TO� �

���� � OTP� UUA� A<<� �
X² (df=4) = 34.207;�Wp = .000 � � � � � �
Wp�e�=<>�

	��*����$�%�UV����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	������������+�&'�	+��*+���D��&����)�� C�	!�(��*���?��?)�+�(*�*+���
���+�����
��!��
"$��
�1�*�$�%���
)�=<>	����-,�+��,f���@�

�
�(������
)�

�
��

�

�

�

�

�

�

�

�



 

�   

T<�

 �	�!����'��
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	

�����������E:F���G��	�%.�%.�,�� ���$��

�

����$�%_D
��,0�,��	!�� � �?�� � �
� � � '��� �"��� ���� �
U<<�_�_�� � � TT� OOV� OZ<� �
A><�_�_�� � � >Z� P>� OUA� �
XV<�_�_�� � � U<� U<� A<� �
UB<<<�_�_����D��U���*�� � � U<� UP� AP� �

���� � OTP� UVA� A<<� �
X² (df=3) = 2.165; p = .539 � � � � � �

�
	��*����$�%�UA����������������,���)�$��)����(*�*+��?d*��������)�� C���?��

�	���������������$�%_D
��,0�,��	!��	!�(��*���?�?)�+��(*�*+���
���+����+���
��!��
"$���1�*�$�%
���
)�<=>�	����-,�+������
)��

�
�(��,f���@��

�
��

�

�

�

�

�

�

�

�

�



 

�   

TO�

 �	�!����'/�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

�����1�����E:F�%.�,�� ���$��
�

�1��$�%_D
�� � �?�� � �
� � � '��� �"��� ���� �
���������_D
�� � � TP� PT� OAV� �
�������$
%��,� � � AZ� AT� ZP� �
_-,�,���������]*�[��������?������� � � VP� TP� OOU� �
�1�������� � � OO� UZ� A<� �
�D%� �̀ � � A� >� Z� �

���� � OTP� UUA� A<<� �
X² (df=4) = 17.598;�Wp = .001 � � � � � �
Wp�e�=<>�

	��*����$�%�U>����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	������������1��$�%_D
�	!�(��*���?��?)�+��(*�*+���
���+�����
��!��
"$���1�*�$�%���
)�=<>�	��
��-,�+��,f���@��

�
�(������
)��

�
��

�

�

�

�

�

�

�

�



 

�   

TU�

 �	�!����';�
���1� ���IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

����*����������:��E:F�%.�,�� ���$��

�

��%���$�%��D��_D
�� � �?�� � �
� � � '��� �"��� ���� �
��	�� � � VT� V<� PT� �
 b�� ���*� � � PA� ZO� OPP� �
�
'������ � � >V� >>� O<X� �
 '�'
�� � � OA� UT� AO� �
�D%� �̀ � � X� UO� UZ� �

���� � OTP� UUA� A<<� �
X² (df=4) = 9.802;�Wp = .044 � � � � � �
Wp�e�=<>�

	��*����$�%�UP����������������,���)�$��)����(*�*+������+��?d*��������)�� C�
��?���	�������������%���$�%��D��_D
�	!�(��*���?��?)�+�(*�*+���
���+�����
��!��
"$���1�*�$�%
���
)=<>	����-,�+��,f���@�

�
�(������
)��

�
��

�

�

�

�

�

�

�

�



 

�   

TV�

 �	�!����'<�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		����	��	�"#
���$���%�	�

&	��	��� ������*�%.�,�� ���$��

�

��'�*�$�%����� � �?�� � �
� � � '��� �"��� ���� �
��	D�� � � TV� TA� OAT� �
������� � � >>� >X� OOV� �
��']�� �(�*� � � UO� AV� PA� �
���*���)���%� � � OT� VZ� >P� �
�D%� �̀ � � O<� O<� U<� �

���� � OTP� UUA� A<<� �
X² (df=4) = 10.686;�Wp = .030 � � � � � �
Wp�e�=<>�

	��*����$�%�UT����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	�������������'�*�$�%����	!�(��*���?���?)�+��(*�*+���
���+�����
��!��
"$���1�*�$�%���
)=<>�
	����-,�+�,f���@��

�
�(�������
)�

�
��

�

�

�

�

�

�

�

�



 

�   

TA�

 �	�!����'C�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

�����:��"H8?�%.�,�� ���$��

�

�D%� a�#�$�%���%������� � �?�� � �
� � � '��� �"��� ���� �
 $�$
���� � � OVZ� OTU� VOO� �
��$�-� � � O� UV� UA� �
��
��D�?��?�� � � OP� OP� VU� �
,c�� a�#�� � � OU� <� OU� �
�D%� �̀ � � X� OV� UO� �

���� � OTP� UUA� A<<� �
X² (df=4) =31.553;�Wp = .000 � � � � � �
Wp�e�=<>�

	��*����$�%�UX����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	�������������D%� a�#�$�%���%������	!�(��*���?��?)�+��(*�*+���
���+�����
��!��
"$���1�*�$�%
���
)�=<>�	����-,�+��,f���@��

�
�(������
)��

�
��

�

�

�

�

�

�

�

�



 

�   

T>�

 �	�!����'B�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

����"H8?����� ����	�	�"#
%.�,�� ���$��

�

 a�#�����*+����)�� C�� � �?�� � �
� � � '��� �"��� ���� �
)�� C�������� � � X� U<� UX� �
)�� C��$+������ � � O<Z� OOZ� UUX� �
)�� C������
�� � � >Z� X>� OAA� �

���� � OTP� UVA� A<<� �
X² (df=2) =4.582; p = .101 � � � � � �
�

	��*����$�%�UZ����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	������������ a�#�����*+����)�� C�	!�(��*���?��?)�+���+(*�*+���
���+�����
��!��
"$��
�1�*�$�%���
)�=<>�	����-,�+������
)��

�
�(��,f���@��

�
��

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�



 

�   

TP�

���2 �5������'�����	�"#
�������*2 ��!�)���$- ��		���	�	�"#
��$���%�	�&	��

, � ��!�)��
�
�
�^����)�� C�$�%�����-*+���
���?d*��������)�� C���?���	���������+(*�*+���
��

�
�
�^����)�� C�$�%�����-*+���
���?d*��������)�� C���?���	�������(*�*+���
��
�

 �	�!����+6�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

������ 2�������:���:��%.�,�� ����*2�

�

��*-��$�%��D���D%�� ���-� � �
� ��+�����

U<�,Y�
���-�UO5
V<�,Y�

���-�VO5
A<�,Y�

���-�AO�
,Y��
��,�

���� �

'�)��'�*�� UA� VZ� >>�� U<� OVP� �
'�) a�#�� UA� OU� <� OU� AX� �
��,�� �'��*+��-�C�?� Z� A<� >U� >P� O>T� �
���)��
���D��?D%��'��&���D%�� O>� O� UZ� OU� >Z� �

���� TU� ZU� OVP� O<<� A<<� �
X² (df=9) =92.120;�Wp = .000 � � � � � �
Wp�e�=<>�

	��*����$�%�V<����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	�������������*-��$�%��D���D%�	!�(��*�����-�?)�+��(*�*+���
���+�����
��!��
"$���1�*�$�%���
)�
=<>��	����-,�+��,f���@��

�
�(������
)��

�
��

�

�

�

�

�



 

�   

TT�

 �	�!����+��
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

����

��1��D���	�	�"#
%.�,�� ����*2�

�

����1�%&����)�� C�� ���-� � �
� ��+�����

U<�,Y�
���-�UO5
V<�,Y�

���-�VO5
A<�,Y�

���-�AO�
,Y��
��,�

���� �

������+��O���

�*+��
,����� V� O>� O>� V<� PV� �
O5U���

�*+��
,����� UA� UA� U<� OP� XA� �
V5A���

�*+��
,����� UX� UX� PX� UA� OAX� �
>5P���

�*+��
,����� OU� U<� OP� U<� PX� �
�����+��P���

�*+��
,����� >� >� OT� O<� VT� �

���� TU� ZU� OVP� O<<� A<<� �
X² (df=12) =50.412; Wp = .000 � � � � � �
Wp�e�=<>�

	��*����$�%�VO����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	���������������1�%&����)�� C�	!�(��*�����-�?)�+��(*�*+���
���+�����
��!��
"$���1�*�$�%
���
)�=<>�	����-,�+�,f���@��

�
�(������
)��

�
��

�

�

�

�

�

�

�



 

�   

TX�

 �	�!����+'�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
���$���%�	�&	��

����
��D��%��* ����:��D���	�	�"#
%.�,�� ����*2�
�
�+�&'�	+��*+���D��&����)�� C�� ���-� � �
� ��+�����

U<�,Y�
���-�UO5
V<�,Y�

���-�VO5
A<�,Y�

���-�AO�
,Y��
��,�

���� �

������+��O<<�)�$� OO� UU� O<� OZ� PU� �
O<O5U<<�)�$� UX� U<� UA� U<� ZU� �
U<O5V<<�)�$� OP� OU� VP� UA� XX� �
V<O5A<<�)�$� O>� UT� VT� X� XT� �
�����+��A<<�)�$� U� OO� UZ� UZ� TO� �

���� TU� ZU� OVP� O<<� A<<� �
X² (df=12) =57.608; Wp = .000 � � � � � �

Wp�e�=<>�
	��*����$�%�VU����������������,���)�$��)����(*�*+��?d*��������)�� C���?��

�	������������+�&'�	+��*+���D��&����)�� C�	!�(��*�����-�?)�+�*+���
���+�����
��!��
"$���1�*�
$�%���
)�=<>�	����-,�+�,f���@��

�
�(�������
)�

�
��

�

�

�

�

�

�

�

�



 

�   

TZ�

 �	�!����++�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!	��
��!$- ��		���	�	�"#
���$��

�%�	�&	�������������E:F���G��	�%.��)��(%%)*�����	����	��� 	�%.�,�� ����*2�

�

����$�%_D
��,0�,��	!�� ���-� � �
� ��+�����

U<�,Y�
���-�UO5
V<�,Y�

���-�VO5
A<�,Y�

���-�AO�
,Y��
��,�

���� �

U<<�_�_�� AP� >O� AX� A>� OZ<� �
A><�_�_�� OV� UX� PV� U<� OU<� �
XV<�_�_�� <� X� OU� U<� A<� �
UB<<<�_�_����D��U���*�� OV� >� OV� O>� AP� �

���� TU� ZU� OVP� O<<� A<<� �
X² (df=9) =52.483; Wp = .000 � � � � � �
Wp�e�=<>�

	��*����$�%�VV����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	���������������$�%_D
��,0�,��	!�	!�(��*�����-�?)�+��(*�*+���
���+�����
��!��
"$���1�*�$�%
���
)�=<>�	����-,�+�,f���@��

�
�(�������
)�

�
��

�

�

�

�

�

�

�

�



 

�   

X<�

 �	�!����+��
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

�����1�����E:F�%.�,�� ����*2�

�

�1��$�%_D
�� ���-� � �
� ��+�����

U<�,Y�
���-�UO5
V<�,Y�

���-�VO5
A<�,Y�

���-�AO�
,Y��
��,�

���� �

���������_D
�� UU� VO� >Z� VO� OAV� �
�������$
%��,� OP� UA� UX� UX� ZP� �
_-,�,���������]*�[��������?������� OP� U<� A<� VP� OOU� �
�1�������� OP� OU� X� A� A<� �
�D%� �̀ U� >� O� O� Z� �

���� TU� ZU� OVP� O<<� A<<� �
X² (df=121) =33.447;�Wp = .001 � � � � � �
Wp�e�=<>�

	��*����$�%�VA����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	������������1��$�%_D
�	!�(��*�����-�?)�+��(*�*+���
���+�����
��!��
"$���1�*�$�%���
)�=<>�	��
��-,�+�,f���@��

�
�(�������
)�

�
��

�

�

�

�

�

�

�



 

�   

XO�

 �	�!����+/�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

����*����������:��E:F�%.�,�� ����*2�

�

��%���$�%��D��_D
�� ���-� � �
� ��+�����

U<�,Y�
���-�UO5
V<�,Y�

���-�VO5
A<�,Y�

���-�AO�
,Y��
��,�

���� �

��	�� UU� OO� UP� X� PT� �
 b�� ���*� UX� >U� >U� UV� O>>� �
�
'������ U<� OX� UA� AX� O<X� �
 '�'
�� <� A� UZ� X� AO� �
�D%� �̀ U� Z� >� OV� UZ� �

���� TU� ZU� OVP� O<<� A<<� �
X² (df=12) =89.319; Wp = .000 � � � � � �
Wp�e�=<>�

	��*����$�%�V>����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	�������������%���$�%��D��_D
�	!�(��*�����-�?)�+��(*�*+���
���+�����
��!��
"$���1�*�$�%���
)�=<>
	����-,�+��,f���@��

�
�(�������
)�

�
��

�

�

�

�

�

�

�

�



 

�   

XU�

 �	�!����+;�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

	��� ������*�%.�,�� ����*2�

�

��'�*�$�%����� ���-� � �
� ��+�����

U<�,Y�
���-�UO5
V<�,Y�

���-�VO5
A<�,Y�

���-�AO�
,Y��
��,�

���� �

��	D�� O<� VX� >U� AT� OAT� �
������� OP� OP� AZ� VU� OOV� �
��']�� �(�*� UX� OU� U<� A� PA� �
���*���)���%� OP� UA� A� OU� >P� �
�D%� �̀ U� U� OO� >� U<� �

���� TU� ZU� OVP� O<<� A<<� �
X² (df=12) =85.115;�Wp = .000 � � � � � �
Wp�e�=<>�

	��*����$�%�VP����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	�������������'�*�$�%����	!�(��*�����-�?)�+��(*�*+���
���+�����
��!��
"$���1�*�$�%���
)�=<>
	����-,�+��,f���@��

�
�(������
)��

�
��

�

�

�

�

�

�

�



 

�   

XV�

 �	�!����+<�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

�����:��"H8?�%.�,�� ����*2�

�

�D%� a�#�$�%���%������� ���-� � �
� ��+�����

U<�,Y�
���-�UO5
V<�,Y�

���-�VO5
A<�,Y�

���-�AO�
,Y��
��,�

���� �

 $�$
���� PU� T<� ZV� XP� VOO� �
��$�-� <� X� X� X� UA� �
��
��D�?��?�� <� X� U<� A� VU� �
,c�� a�#�� <� A� X� <� OU� �
�D%� �̀ O<� U� T� U� UO� �

���� TU� ZU� OVP� O<<� A<<� �
X² (df=12) =48.046; Wp = .000 � � � � � �
Wp�e�=<>�

	��*����$�%�VT����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	������������D%� a�#�$�%���%������	!�(��*�����-�?)�+��(*�*+���
���+�����
��!��
"$���1�*�$�%
���
)�=<>�	����-,�+��,f���@��

�
�(�������
)�

�
��

�

�

�

�

�

�

�



 

�   

XA�

 �	�!����+C�
���1� ��IJKLSNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

����"H8?����� ����	�	�"#
%.�,�� ����*2�

�

 a�#�����*+����)�� C�� ���-� � �
� ��+�����

U<�,Y�
���-�UO5
V<�,Y�

���-�VO5
A<�,Y�

���-�AO�
,Y��
��,�

���� �

)�� C�������� <� A� X� OP� UX� �
)�� C��$+������ UA� >U� X<� TU� UUX� �
)�� C������
�� AX� VP� AX� OU� OAA� �

���� TU� ZU� OVP� O<<� A<<� �
X² (df=6) =63.962; Wp = .000 � � � � � �
Wp�e�=<>�

	��*����$�%�VX����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	����������� a�#�����*+����)�� C�	!�(��*�����-�?)�+��(*�*+���
���+�����
��!��
"$��
�1�*�$�%���
)�=<>�	����-,�+�,f���@��

�
�(�������
)�

�
��

�
�
�
�

�

�

�

�

�

�

�

�

�

�



 

�   

X>�

���2 �5������+�����	�"#
������1��#�$��	��	� ��!�)���$- ��		���	�	�"#
��

$���%�	�&	��, � ��!�)��
�
�
�^����)�� C�$�%���1��C�?�������*+���
���?d*��������)�� C���?���	���������+

(*�*+���
��
�
�
�^����)�� C�$�%���1��C�?�������*+���
���?d*��������)�� C���?���	�������

(*�*+���
��
�

 �	�!����+B�
���1� ���IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

������ 2�������:���:��%.�,�� ���1��#�$��	��	��

�

��*-��$�%��D���D%�� �1��C�?�������� � �
�  ��� ����� �����[��+�����[

(���
����+�
���� �

'�)��'�*�� XV� A<� O>� OVX� �
'�) a�#�� VX� OU� <� AX� �
��,�� �'��*+��-�C�?� P>� PA� UX� O>T� �
���)��
���D��?D%��'��&���D%�� UA� VU� O� >T� �

���� U<X� OAX� AA� A<<� �
X² (df=6) =37.996;�Wp = .000 � � � � � �
Wp�e�=<>�

	��*����$�%�VZ����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	�������������*-��$�%��D���D%�	!�(��*���1��C�?��������?)�+��(*�*+���
���+�����
��!��
"
$���1�*�$�%���
)�=<>	����-,�+��,f���@��

�
�(�������
)�

�
��

�

�

�

�



 

�   

XP�

 �	�!�����6�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

����

��1��D���	�	�"#
%.�,�� ���1��#�$��	��	��

�

����1�%&����)�� C�� �1��C�?�������� � �
�  ��� ����� �����[��+�����[

(���
����+�
���� �

������+��O���

�*+��
,����� V<� U>� X� PV� �
O5U���

�*+��
,����� >P� U<� X� XA� �
V5A���

�*+��
,����� X<� PA� A� OAX� �
>5P���

�*+��
,����� UA� UA� U<� PX� �
�����+��P���

�*+��
,����� OX� O>� A� VT� �

���� U<X� OAX� AA� A<<� �
X² (df=8) = 43.919;�Wp = .000 � � � � � �
Wp�e�=<>�

	��*����$�%�A<����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	���������������1�%&����)�� C�	!�(��*���1��C�?��������?)�+��(*�*+���
���+����
�
��!��
"$���1�*�$�%���
)�=<>�	����-,�+��,f���@��

�
�(�������
)�

�
��

�

�

�

�

�

�

�



 

�   

XT�

 �	�!�������
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

����
��D��%��* ����:��D���	�	�"#
%.�,�� ���1��#�$��	��	��

�

�+�&'�	+��*+���D��&����)�� C�� �1��C�?�������� � �
�  ��� ����� �����[��+�����[

(���
����+�
���� �

������+��O<<�)�$� AO� OA� T� PU� �
O<O5U<<�)�$� >P� VU� A� ZU� �
U<O5V<<�)�$� A<� A<� X� XX� �
V<O5A<<�)�$� >>� VU� <� XT� �
�����+��A<<�)�$� OP� V<� U>� TO� �

���� U<X� OAX� AA� A<<� �
X² (df=8) =75.697;�Wp = .000 � � � � � �
Wp�e�=<>�

	��*����$�%�AO����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	������������+�&'�	+��*+���D��&����)�� C�	!�(��*���1��C�?��������?)�+��(*�*+���
�
��+�����
��!��
"$���1�*�$�%���
)�=<>�	����-,�+��,f���@��

�
�(�������
)�

�
��

�

�

�

�

�

�

�

�



 

�   

XX�

 �	�!�����'�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

�����������E:F���G��	�%.�%.�,�� ���1��#�$��	��	��

�

����$�%_D
��,0�,��	!�� �1��C�?�������� � �
�  ��� ����� �����[��+�����[

(���
����+�
���� �

U<<�_�_�� OUA� >>� OO� OZ<� �
A><�_�_�� >V� >Z� OU� OUA� �
XV<�_�_�� X� U<� OU� A<� �
UB<<<�_�_����D��U���*�� UV� OA� Z� AP� �

���� U<X� OAX� AA� A<<� �
X² (df=6) =46.910;�Wp = .000 � � � � � �
Wp�e�=<>�

	��*����$�%�AU����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	���������������$�%_D
��,0�,��	!��	!�(��*���1��C�?��������?)�+��(*�*+���
���+����
�
��!��
"$���1�*�$�%���
)�=<>�	����-,�+��,f���@��

�
�(�������
)�

�
��

�

�

�

�

�

�

�

�

�



 

�   

XZ�

 �	�!�����+�
���1� ���IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

�����1�����E:F�%.�,�� ���1��#�$��	��	��

�

�1��$�%_D
�� �1��C�?�������� � �
�  ��� ����� �����[��+�����[

(���
����+�
���� �

���������_D
�� XO� PU� <� OAV� �
�������$
%��,� AA� UX� UA� ZP� �
_-,�,���������]*�[��������?������� AX� AA� U<� OOU� �
�1�������� UX� OU� <� A<� �
�D%� �̀ T� U� <� Z� �

���� U<X� OAX� AA� A<<� �
X² (df=6) =54.124; Wp = .000 � � � � � �
Wp�e�=<>�

	��*����$�%�AV����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	������������1��$�%_D
��	!�(��*���1��C�?��������?)�+��(*�*+���
���+�����
��!��
"$��
�1�*�$�%���
)�=<>�	����-,�+��,f���@��

�
�(������
)��

�
��

�

�

�

�

�

�

�



 

�   

Z<�

 �	�!�������
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

����*����������:��E:F�%.�,�� ���1��#�$��	��	��

�

��%���$�%��D��_D
�� �1��C�?�������� � �
�  ��� ����� �����[��+�����[

(���
����+�
���� �

��	�� AV� OP� X� PT� �
 b�� ���*� O<<� >O� A� O>>� �
�
'������ AX� AA� OP� O<X� �
 '�'
�� >� UX� X� AO� �
�D%� �̀ OU� Z� X� UZ� �

���� U<X� OAX� AA� A<<� �
X² (df=8) =57.671;�Wp = .000 � � � � � �
Wp�e�=<>�

	��*����$�%�AA����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	�������������%���$�%��D��_D
�	!�(��*���1��C�?��������?)�+��(*�*+���
���+�����
��!��
"$��
�1�*�$�%���
)�=<>�	����-,�+��,f���@��

�
�(�������
)�

�
��

�

�

�

�

�

�

�

�



 

�   

ZO�

 �	�!�����/�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

	��� ������*�%.�,�� ���1��#�$��	��	��

�

��'�*�$�%����� �1��C�?�������� � �
�  ��� ����� �����[��+�����[

(���
����+�
���� �

��	D�� XA� AV� U<� OAT� �
������� VU� PO� U<� OOV� �
��']�� �(�*� PU� OU� <� PA� �
���*���)���%� VP� OP� A� >P� �
�D%� �̀ A� OP� <� U<� �

���� U<X� OAX� AA� A<<� �
X² (df=8) =72.567; Wp = .000 � � � � � �
Wp�e�=<>�

	��*����$�%�A>����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	�������������'�*�$�%����	!�(��*���1��C�?��������?)�+��(*�*+���
���+�����
��!��
"$��
�1�*�$�%���
)�=<>�	����-,�+��,f���@��

�
�(������
)��

�
��

�

�

�

�

�

�

�



 

�   

ZU�

 �	�!�����;�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

�����:��"H8?�%.�,�� ���1��#�$��	��	��

�

�D%� a�#�$�%���%������� �1��C�?�������� � �
�  ��� ����� �����[��+�����[

(���
����+�
���� �

 $�$
���� O>T� O<O� AV� VOO� �
��$�-� X� OP� <� UA� �
��
��D�?��?�� OU� U<� <� VU� �
,c�� a�#�� X� A� <� OU� �
�D%� �̀ OU� T� O� UO� �

���� U<X� OAX� AA� A<<� �
X² (df=8) =27.621; Wp = .001 � � � � � �
Wp�e�=<>�

	��*����$�%�AP����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	������������D%� a�#�$�%���%������	!�(��*���1��C�?��������?)�+��(*�*+���
���+����
�
��!��
"$���1�*�$�%���
)�=<>�	����-,�+��,f���@��

�
�(������
)��

�
��

�

�

�

�

�

�

�



 

�   

ZV�

 �	�!�����<�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

����"H8?����� ����	�	�"#
%.�,�� ���1��#�$��	��	��

�

 a�#�����*+����)�� C�� �1��C�?�������� � �
�  ��� ����� �����[��+�����[

(���
����+�
���� �

)�� C�������� OU� OP� <� UX� �
)�� C��$+������ O<X� XA� VP� UUX� �
)�� C������
�� XX� AX� X� OAA� �

���� U<X� OAX� AA� A<<� �
X² (df=4) =19.000; Wp = .001 � � � � � �
Wp�e�=<>�

	��*����$�%�AT����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	����������� a�#�����*+����)�� C��	!�(��*���1��C�?��������?)�+��(*�*+���
���+����
�
��!��
"$���1�*�$�%���
)�=<>�	����-,�+��,f���@��

�
�(�������
)�

�
��

�
�
�
�
�
�
�
�

�
����������������
�
�
����������������������
�



 

�   

ZA�

�����������������2 �5������������	�"#
�����	��)���	�7�8� ��!�)���$- ��		���	�	�"#
��$���%�	�

&	��, � ��!�)��
�
�
�^����)�� C�$�%�����
)��������*+���
���?d*��������)�� C���?���	���������+

(*�*+���
��
�
�
�^����)�� C�$�%�����
)��������*+���
���?d*��������)�� C���?���	�������

(*�*+���
��
�

 �	�!�����C�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

������ 2�������:���:��%.�,�� ��	��)���	�7�8��

�

��*-��$�%��D���D%�� ���
)��������� �
� ��+����

�
@��*���
�
@��*��
,���[
,�'=[,��=�

,��""�*��� �����+�
,��""�*���

����

'�)��'�*�� A� >>� TP� V� OVX�
'�) a�#�� A� VU� OU� <� AX�
��,�� �'��*+��-�C�?� A� AO� TU� A<� O>T�
���)��
���D��?D%��'��&���D%�� <� OX� VU� Z� >T�

���� OU� OAA� OZU� >U� A<<�
X² (df=9) =70.230;�Wp = .000 � � � � �
Wp�e�=<>�
�

	��*����$�%�AX����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	�������������*-��$�%��D���D%�	!�(��*�����
)���������?)�+��(*�*+���
���+�����
��!��
"$��
�1�*�$�%���
)�=<>�	����-,�+��,f���@��

�
�(�������
)�

�
��

�

�



 

�   

Z>�

 �	�!�����B�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

����

��1��D���	�	�"#
%.�,�� ��	��)���	�7�8��

�

����1�%&����)�� C�� ���
)��������� �
� ��+����

�
@��*���
�
@��*��
,���[
,�'=[,��=�

,��""�*��� �����+�
,��""�*���

����

������+��O���

�*+��
,����� <� OX� VA� OO� PV�
O5U���

�*+��
,����� A� AX� UX� A� XA�
V5A���

�*+��
,����� X� A<� X<� U<� OAX�
>5P���

�*+��
,����� <� UX� VP� A� PX�
�����+��P���

�*+��
,����� <� O<� OA� OV� VT�

���� OU� OAA� OZU� >U� A<<�
X² (df=12) =53.282; Wp = .000 � � � � �
Wp�e�=<>�

	��*����$�%�AZ����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	���������������1�%&����)�� C��	!�(��*�����
)���������?)�+��(*�*+���
���+�����
��!��
"
$���1�*�$�%���
)�=<>�	����-,�+��,f���@��

�
�(�������
)�

�
��

�

�

�

�

�

�

�

�



 

�   

ZP�

 �	�!����/6�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

����
��D��%��* ����:��D���	�	�"#
%.�,�� ��	��)���	�7�8��
�
�+�&'�	+��*+���D��&����)�� C�� ���
)��������� �
� ��+����

�
@��*���
�
@��*��
,���[
,�'=[,��=�

,��""�*��� �����+�
,��""�*���

����

������+��O<<�)�$� <� VV� OX� OO� PU�
O<O5U<<�)�$� <� AX� A<� A� ZU�
U<O5V<<�)�$� X� U<� AA� OX� XX�
V<O5A<<�)�$� A� UV� >U� X� XT�
�����+��A<<�)�$� <� U<� VX� OV� TO�

���� OU� OAA� OZU� >U� A<<�
X² (df=12) =56.665;�Wp = .000 � � � � �
Wp�e�=<>�

	��*����$�%�><����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	������������+�&'�	+��*+���D��&����)�� C�	!�(��*�����
)���������?)�+��(*�*+���
���+����
�
��!��
"$���1�*�$�%���
)�=<>�	����-,�+��,f���@��

�
�(�������
)�

�
��

�

�

�

�

�

�

�



 

�   

ZT�

 �	�!����/��
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

�����������E:F���G��	�%.�%.�,�� ��	��)���	�7�8��

�

����$�%_D
��,0�,��	!�� ���
)��������� �
� ��+����

�
@��*���
�
@��*��
,���[
,�'=[,��=�

,��""�*��� �����+�
,��""�*���

����

U<<�_�_�� OU� XO� TZ� OX� OZ<�
A><�_�_�� <� VT� T>� OU� OUA�
XV<�_�_�� <� X� U<� OU� A<�
UB<<<�_�_����D��U���*�� <� OX� OX� O<� A>�

���� OU� OAA� OZU� >U� A<<�
X² (df=9) =40.772; Wp = .000 � � � � �
Wp�e�=<>�

	��*����$�%�>O����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	���������������$�%_D
��,0�,��	!�	!�(��*�����
)���������?)�+��(*�*+���
���+�����
��!��
"
$���1�*�$�%���
)�=<>�	����-,�+��,f���@��

�
�(�������
)�

�
��

�

�

�

�

�

�

�

�



 

�   

ZX�

 �	�!����/'�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

�����1�����E:F�%.�,�� ��	��)���	�7�8��

�

�1��$�%_D
�� ���
)��������� �
� ��+����

�
@��*���
�
@��*��
,���[
,�'=[,��=�

,��""�*��� �����+�
,��""�*���

����

���������_D
�� A� AO� XT� OO� OAV�
�������$
%��,� A� A<� A<� OU� ZP�
_-,�,���������]*�[��������?������� <� VU� >P� UA� OOU�
�1�������� A� UA� X� A� A<�
�D%� �̀ <� T� O� O� Z�

���� OU� OAA� OZU� >U� A<<�
X² (df=9) =50.519; Wp = .000 � � � � �
Wp�e�=<>�

	��*����$�%�>U����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	������������1��$�%_D
��	!�(��*�����
)���������?)�+��(*�*+���
���+�����
��!��
"$���1�*�$�%
���
)�=<>�	����-,�+��,f���@��

�
�(�������
)�

�
��

�

�

�

�

�

�

�



 

�   

ZZ�

 �	�!����/+�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

����*����������:��E:F�%.�,�� ��	��)���	�7�8��

�

��%���$�%��D��_D
�� ���
)��������� �
� ��+����

�
@��*���
�
@��*��
,���[
,�'=[,��=�

,��""�*��� �����+�
,��""�*���

����

��	�� A� UZ� UU� OU� PT�
 b�� ���*� <� PX� TU� O>� O>>�
�
'������ A� VP� >U� OP� O<X�
 '�'
�� <� <� VT� A� AO�
�D%� �̀ A� OO� Z� >� UZ�

���� OU� OAA� OZU� >U� A<<�
X² (df=12) =61.783; Wp = .000 � � � � �
Wp�e�=<>�

	��*����$�%�>V����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	�������������%���$�%��D��_D
��	!�(��*�����
)���������?)�+��(*�*+���
���+�����
��!��
"$��
�1�*�$�%���
)�=<>�	����-,�+��,f���@��

�
�(�������
)�

�
��

�

�

�

�

�

�

�

�



 

�   

O<<�

 �	�!����/��
���1� ���IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

	��� ������*�%.�,�� ��	��)���	�7�8��

�

��'�*�$�%����� ���
)��������� �
� ��+����

�
@��*���
�
@��*��
,���[
,�'=[,��=�

,��""�*��� �����+�
,��""�*���

����

��	D�� <� VT� XU� UX� OAT�
������� <� VU� PO� U<� OOV�
��']�� �(�*� X� A<� OU� A� PA�
���*���)���%� A� VU� U<� <� >X�
�D%� �̀ <� V� OT� <� U<�

���� OU� OAA� OZU� >U� A<<�
X² (df=12) =99.136;�Wp = .000 � � � � �
Wp�e�=<>�

	��*����$�%�>A����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	�������������'�*�$�%����	!�(��*�����
)���������?)�+�(*�*+���
���+�����
��!��
"$���1�*�$�%
���
)�=<>�	����-,�+��,f���@��

�
�(������
)��

�
��

�

�

�

�

�

�

�

�



 

�   

O<O�

 �	�!����//�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
�����$���%�	�

&	�������:��"H8?�%.�,�� ��	��)���	�7�8��

�

�D%� a�#�$�%���%������� ���
)��������� �
� ��+����

�
@��*���
�
@��*��
,���[
,�'=[,��=�

,��""�*��� �����+�
,��""�*���

����

 $�$
���� Z� OUA� OVT� AU� VOO�
��$�-� <� A� OP� A� UA�
��
��D�?��?�� <� A� UA� A� VU�
,c�� a�#�� <� A� X� <� OU�
�D%� �̀ A� X� T� U� UO�

���� OU� OAA� OZU� PU� A<<�
X² (df=12) =40.496; Wp = .000 � � � � �
Wp�e�=<>�

	��*����$�%�>>����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	������������D%� a�#�$�%���%�������	!�(��*�����
)���������?)�+��(*�*+���
���+�����
��!��
"
$���1�*�$�%���
)�=<>�	����-,�+��,f���@��

�
�(�������
)�

�
��

�

�

�

�

�

�

�



 

�   

O<U�

 �	�!����/;�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

����"H8?����� ����	�	�"#
%.�,�� ��	��)���	�7�8��

�

 a�#�����*+����)�� C�� ���
)��������� �
� ��+����

�
@��*���
�
@��*��
,���[
,�'=[,��=�

,��""�*��� �����+�
,��""�*���

����

)�� C�������� <� A� UA� <� UX�
)�� C��$+������ A� T>� OOP� VU� UUX�
)�� C������
�� X� PA� >U� U<� OAA�

���� OU� OAA� OZU� >U� A<<�
X² (df=6) =28.970; Wp = .000  � � � � �
Wp�e�=<>�

	��*����$�%�>P����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	����������� a�#�����*+����)�� C��	!�(��*�����
)���������?)�+�(*�*+���
���+����
�
��!��
"$���1�*�$�%���
)�=<>�	����-,�+��,f���@��

�
�(�������
)�

�
��

�

�
�
�
�
�
�
�
�
�
�
�

�



 

�   

O<V�

���2 �5������/�����	�"#
���������$ ��!�)���$- ��		���	�	�"#
��$���%�	�&	��

, � ��!�)��
�
�
�^����)�� C�$�%����'�?*+���
���?d*��������)�� C���?���	���������+(*�*+���
��

�
�
�^����)�� C�$�%����'�?*+���
���?d*��������)�� C���?���	�������(*�*+���
��
�

 �	�!����/<�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

������ 2�������:���:��%.�,�� ������$�

�

��*-��$�%��D���D%�� ��'�?� �
� �
������[

�
�������
�����'���[
?�
����
�
/�������	�

?�
����
)���
$���'�[
�
)	����

������[
@-���	
�+��*
��

����

'�)��'�*�� AV� U<� P<� O>� OVX�
'�) a�#�� UA� OU� OU� <� AX�
��,�� �'��*+��-�C�?� UO� AA� >U� A<� O>T�
���)��
���D��?D%��'��&���D%�� OP� U<� OU� Z� >T�

���� O<A� ZP� OVX� PA� A<<�
X² (df=9) =57.363; Wp = .000 � � � � �
Wp�e�=<>�

	��*����$�%�>T����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	�������������*-��$�%��D���D%�	!�(��*����'�?�?)�+��(*�*+���
���+�����
��!��
"$���1�*�$�%���
)�
=<>��	����-,�+��,f���@��

�
�(������
)��

�
��

�

�

�

�



 

�   

O<A�

 �	�!����/C�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
���$���%�	�&	���

����

��1��D���	�	�"#
%.�,�� ������$�

��

����1�%&����)�� C�� ��'�?� �
� �
������[

�
�������
�����'���[
?�
����
�
/�������	�

?�
����
)���
$���'�[
�
)	����

������[
@-���	
�+��*
��

����

������+��O���

�*+��
,����� OX� OX� OP� OO� PV�
O5U���

�*+��
,����� VU� OU� VU� X� XA�
V5A���

�*+��
,����� VU� A<� >U� UA� OAX�
>5P���

�*+��
,����� OU� OP� UA� OX� PX�
�����+��P���

�*+��
,����� O<� O<� OU� >� VT�

���� O<A� ZP� OVP� PA� A<<�
X² (df=12)=19.126; p = .086 � � � � �
�

	��*����$�%�>X����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	���������������1�%&����)�� C��	!�(��*����'�?�?)�+����+(*�*+���
���+�����
��!��
"$��
�1�*�$�%���
)�=<>�	����-,�+��,f���@��

�
�(������
)��

�
��

�

�

�

�

�

�

�



 

�   

O<>�

 �	�!����/B�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

����
��D��%��* ����:��D���	�	�"#
%.�,�� ������$�

�

�+�&'�	+��*+���D��&����)�� C�� ��'�?� �
� �
������[

�
�������
�����'���[
?�
����
�
/�������	�

?�
����
)���
$���'�[
�
)	����

������[
@-���	
�+��*
��

����

������+��O<<�)�$� UZ� X� OA� OO� PU�
O<O5U<<�)�$� VU� OP� VP� X� ZU�
U<O5V<<�)�$� U<� UX� U<� U<� XX�
V<O5A<<�)�$� OZ� U<� A<� X� XT�
�����+��A<<�)�$� A� UA� UP� OT� TO�

���� O<A� ZP� OVP� PA� A<<�
X² (df=12)=56.451;�Wp = .000 � � � � �
Wp�e�=<>�

	��*����$�%�>Z����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	������������+�&'�	+��*+���D��&����)�� C��	!�(��*����'�?�?)�+��(*�*+���
���+�����
��!��
"
$���1�*�$�%���
)�=<>�	����-,�+��,f���@��

�
�(������
)��

�
��

�

�

�

�

�

�

�

�



 

�   

O<P�

 �	�!����;6�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

�����������E:F���G��	�%.�%.�,�� ������$�

�

����$�%_D
��,0�,��	!�� ��'�?� �
� �
������[

�
�������
�����'���[
?�
����
�
/�������	�

?�
����
)���
$���'�[
�
)	����

������[
@-���	
�+��*
��

����

U<<�_�_�� PZ� VO� P<� V<� OZ<�
A><�_�_�� OT� VZ� AX� U<� OUA�
XV<�_�_�� <� OU� OP� OU� A<�
UB<<<�_�_����D��U���*�� OX� OA� OU� U� AP�

���� O<A� ZP� OVP� PA� A<<�
X² (df=9) =48.585; Wp = .000 � � � � �
Wp�e�=<>�

	��*����$�%�P<����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	���������������$�%_D
��,0�,��	!��	!�(��*����'�?��?)�+���(*�*+���
���+�����
��!��
"$���1�*�
$�%���
)�=<>�	����-,�+��,f���@��

�
�(������
)��

�
��

�

�

�

�

�

�

�

�



 

�   

O<T�

 �	�!����;��
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

�����1�����E:F��)�%.�,�� ������$�

�

�1��$�%_D
�� ��'�?� �
� �
������[

�
�������
�����'���[
?�
����
�
/�������	�

?�
����
)���
$���'�[
�
)	����

������[
@-���	
�+��*
��

����

���������_D
�� V<� VZ� >P� OZ� OAV�
�������$
%��,� U<� U<� A<� OP� ZP�
_-,�,���������]*�[�
�������?�������

UA� VU� VU� UA� OOU�

�1�������� UX� A� A� A� A<�
�D%� �̀ U� O� >� O� Z�

���� O<A� ZP� OVP� PA� A<<�
X² (df=9) =54.257; Wp = .000 � � � � �
Wp�e�=<>�

	��*����$�%�PO����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	������������1��$�%_D
��	!�(��*����'�?�?)�+��(*�*+���
���+�����
��!��
"$���1�*�$�%���
)�=<>�
	����-,�+��,f���@��

�
�(�������
)�

�
��

�

�

�

�

�

�



 

�   

O<X�

 �	�!����;'�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

����*����������:��E:F�%.�,�� ������$�

�

��%���$�%��D��_D
�� ��'�?� �
� �
������[

�
�������
�����'���[
?�
����
�
/�������	�

?�
����
)���
$���'�[
�
)	����

������[
@-���	
�+��*
��

����

��	�� U>� A� VA� A� PT�
 b�� ���*� AX� AA� AX� O>� O>>�
�
'������ UX� VU� UA� UA� O<X�
 '�'
�� <� OP� OT� X� AO�
�D%� �̀ V� <� OV� OV� UZ�

���� O<A� ZP� OVP� PA� A<<�
X² (df=12) =78.824; Wp = .000 � � � � �
Wp�e�=<>�

	��*����$�%�PU����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	�������������%���$�%��D��_D
�	!�(��*����'�?�?)�+��(*�*+���
���+�����
��!��
"$���1�*�$�%���
)�
=<>�	����-,�+��,f���@��

�
�(�������
)�

�
��

�

�

�

�

�

�

�



 

�   

O<Z�

 �	�!����;+�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

	��� ������*�%.�,�� ������$�

�

��'�*�$�%����� ��'�?� �
� �
������[

�
�������
�����'���[
?�
����
�
/�������	�

?�
����
)���
$���'�[
�
)	����

������[
@-���	
�+��*
��

����

��	D�� OT� AT� TO� OU� OAT�
������� UA� UX� UZ� VU� OOV�
��']�� �(�*� VP� A� OP� X� PA�
���*���)���%� UA� OU� OU� X� >P�
�D%� �̀ V� >� X� A� U<�

���� O<A� ZP� OVP� PA� A<<�
X² (df=12) =87.471; Wp = .000 � � � � �
Wp�e�=<>�

	��*����$�%�PV����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	�������������'�*�$�%����	!�(��*����'�?�?)�+��(*�*+���
���+�����
��!��
"$���1�*�$�%���
)�
=<>�	����-,�+��,f���@��

�
�(�������
)�

�
��

�

�

�

�

�

�

�



 

�   

OO<�

 �	�!����;��
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

�����:��"H8?�%.�,�� ������$�

�

�D%� a�#�$�%���%������� ��'�?� �
� �
������[

�
�������
�����'���[
?�
����
�
/�������	�

?�
����
)���
$���'�[
�
)	����

������[
@-���	
�+��*
��

����

 $�$
���� ZU� PA� O<A� >O� VOO�
��$�-� <� OU� X� A� UA�
��
��D�?��?�� <� X� OP� X� VU�
,c�� a�#�� <� A� X� <� OU�
�D%� �̀ OU� X� <� O� UO�

���� O<A� ZP� OVP� PA� A<<�
X² (df=12) =56.095; Wp = .000 � � � � �
Wp�e�=<>�

	��*����$�%�PA����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	������������D%� a�#�	!�(��*����'�?�?)�+��(*�*+���
���+�����
��!��
"$���1�*�$�%���
)�=<>
	����-,�+��,f���@��

�
�(�������
)�

�
��

�

�

�

�

�

�

�



 

�   

OOO�

 �	�!����;/�
���1� ���IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

����"H8?����� ����	�	�"#
%.�,�� ������$�

�

 a�#�����*+����)�� C�� ��'�?� �
� �
������[

�
�������
�����'���[
?�
����
�
/�������	�

?�
����
)���
$���'�[
�
)	����

������[
@-���	
�+��*
��

����

)�� C�������� A� OP� X� <� UX�
)�� C��$+������ AX� PP� X<� VU� UUX�
)�� C������
�� >U� OU� AX� VU� OAA�

���� O<A� ZP� OVP� PA� A<<�
X² (df=6) =48.907;�Wp = .000 � � � � �
Wp�e�=<>�

	��*����$�%�P>����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	����������� a�#�����*+����)�� C�	!�(��*����'�?�?)�+��(*�*+���
���+�����
��!��
"$��
�1�*�$�%���
)�=<>�	����-,�+��,f���@��

�
�(�������
)�

�
��

�
�
�
�
�
�
�
�
�
�

���������������������
�
�



 

�   

OOU�

���������������������2 �5������;�����	�"#
�����	�*&�� ��!�)���$- ��		���	�	�"#
��$���%�	�&	��
, � ��!�)��
�������������������

�
�^����)�� C�$�%��������*+���
���?d*��������)�� C���?���	���������+(*�*+���
��

�������������������
�
�^����)�� C�$�%��������*+���
���?d*��������)�� C���?���	�������(*�*+���
��

�
 �	�!����;;�
���1� ��IJKLS�IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$��

�%�	�&	�������� 2�������:���:��%.�,�� ��	�*&���

�

��*-��$�%��D���D%�� �������.��%�*+���D��� �
� ��+�����

>B<<<�
)�$�

>B<<O5�
O>B<<<�
)�$�

O>B<<O5�
U>B<<<�
)�$�

U>B<<O5�
V>B<<<�
)�$�

V>B<<O�
)�$��
�
�,�

����

'�)��'�*�� AV� PX� OP� OO� <� OVX�
'�) a�#�� UA� UA� <� <� <� AX�
��,�� �'��*+��-�C�?� U>� >P� UX� VU� OP� O>T�
���)��
���D��?D%��'��&���D%�� OX� OU� X� OV� X� >T�

���� O<X� OP<� >U� >P� UA� A<<�
X² (df=12)=76.705; Wp = .000 � � � � � �
Wp�e�=<>�

	��*����$�%�PP����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	��������������*-��$�%��D���D%�	!�(��*���������.��%�*+���D���?)�+��(*�*+���
���+�����
��!��
"
$���1�*�$�%���
)�=<>����	����-,�+��,f���@��

�
�(�������
)�

�
��

�

�

�

�



 

�   

OOV�

 �	�!����;<�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

����

��1��D���	�	�"#
%.�,�� ��	�*&���

�

����1�%&����)�� C�� �������.��%�*+���D��� �
� ��+�����

>B<<<�
)�$�

>B<<O5�
O>B<<<�
)�$�

O>B<<O5�
U>B<<<�
)�$�

U>B<<O5�
V>B<<<�
)�$�

V>B<<O�
)�$��
�
�,�

����

������+��O���

�*+��
,����� OX� UP� X� OO� <� PV�
O5U���

�*+��
,����� VU� AA� X� <� <� XA�
V5A���

�*+��
,����� VP� P<� U<� U<� OU� OAX�
>5P���

�*+��
,����� OU� UA� X� OP� X� PX�
�����+��P���

�*+��
,����� O<� P� X� Z� A� VT�

���� O<X� OP<� >U� >P� UA� A<<�
X² (df=16) =53.019; Wp= .000 � � � � � �
Wp�e�=<>�

	��*����$�%�PT����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	�����������������1�%&����)�� C�	!�(��*���������.��%�*+���D����?)�+����(*�*+���
���+����
�
��!��
"$���1�*�$�%���
)�=<>�	����-,�+��,f���@��

�
�(�������
)�

�
��

�

�

�

�

�

�



 

�   

OOA�

 �	�!����;C�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

����
��D��%��* ����:��D���	�	�"#
%.�,�� ��	�*&���

�

�+�&'�	+��*+���D��&����)�� C�� �������.��%�*+���D��� �
� ��+�����

>B<<<�
)�$�

>B<<O5�
O>B<<<�
)�$�

O>B<<O5�
U>B<<<�
)�$�

U>B<<O5�
V>B<<<�
)�$�

V>B<<O�
)�$��
�
�,�

����

������+��O<<�)�$� VV� OX� <� OO� <� PU�
O<O5U<<�)�$� VU� A<� OU� A� A� ZU�
U<O5V<<�)�$� U<� VU� OU� OP� X� XX�
V<O5A<<�)�$� OZ� AO� OP� OU� <� XT�
�����+��A<<�)�$� A� UZ� OV� OV� OU� TO�

���� O<X� OP<� >U� >P� UA� A<<�
X² (df=16)=79.307;�Wp = .000 � � � � � �
Wp�e�=<>�

	��*����$�%�PX����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	�������������+�&'�	+��*+���D��&����)�� C�	!�(��*���������.��%�*+���D���?)�+��(*�*+���
�
��+�����
��!��
"$���1�*�$�%���
)�=<>�	����-,�+��,f���@��

�
�(�������
)�

�
��

�

�

�

�

�

�

�



 

�   

OO>�

 �	�!����;B�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

�����������E:F���G�%.�,�� ��	�*&���

�

����$�%_D
��,0�,��	!�� �������.��%�*+���D��� �
� ��+�����

>B<<<�
)�$�

>B<<O5�
O>B<<<�
)�$�

O>B<<O5�
U>B<<<�
)�$�

U>B<<O5�
V>B<<<�
)�$�

V>B<<O�
)�$��
�
�,�

����

U<<�_�_�� PZ� XV� OP� OX� A� OZ<�
A><�_�_�� UO� P<� OP� U<� T� OUA�
XV<�_�_�� <� X� OU� OU� X� A<�
UB<<<�_�_����D��U���*�� OX� Z� X� P� >� A>�

���� O<X� OP<� >U� >P� UA� A<<�
X² (df=12)=78.574;�Wp = .000 � � � � � �
Wp�e�=<>�

	��*����$�%�PZ����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	����������������$�%_D
��,0�,��	!�	!�(��*���������.��%�*+���D���?)�+��(*�*+���
���+����
�
��!��
"$���1�*�$�%���
)�=<>��	����-,�+��,f���@��

�
�(�������
)�

�
��

�

�

�

�

�

�

�

�



 

�   

OOP�

 �	�!����<6�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

�����1�����E:F�%.�,�� ��	�*&���

�

�1��$�%_D
�� �������.��%�*+���D��� �
� ��+�����

>B<<<�
)�$�

>B<<O5�
O>B<<<�
)�$�

O>B<<O5�
U>B<<<�
)�$�

U>B<<O5�
V>B<<<�
)�$�

V>B<<O�
)�$��
�
�,�

����

���������_D
�� V<� PP� VU� OO� A� OAV�
�������$
%��,� U<� AA� X� OU� OU� ZP�
_-,�,���������]*�[�
�������?�������

UA� AA� X� UX� X� OOU�

�1�������� UX� A� A� A� <� A<�
�D%� �̀ P� U� <� O� <� Z�

���� O<X� OP<� >U� >P� UA� A<<�
X² (df=12)=91.575; Wp = .000 � � � � � �
Wp�e�=<>�

	��*����$�%�T<����������������,���)�$��)����(*�*+�?d*��������)�� C���?��
�	�������������1��$�%_D
�	!�(��*���������.��%�*+���D���?)�+��(*�*+���
���+�����
��!��
"$��
�1�*�$�%���
)�=<>	����-,�+��,f���@��

�
�(�������
)�

�
��

�

�

�

�

�

�



 

�   

OOT�

 �	�!����<��
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

����*����������:��E:F�%.�,�� ��	�*&���

�

��%���$�%��D��_D
�� �������.��%�*+���D��� �
� ��+�����

>B<<<�
)�$�

>B<<O5�
O>B<<<�
)�$�

O>B<<O5�
U>B<<<�
)�$�

U>B<<O5�
V>B<<<�
)�$�

V>B<<O�
)�$��
�
�,�

����

��	�� U>� OX� X� OU� A� PT�
 b�� ���*� >U� P<� UA� OO� X� O>P�
�
'������ UX� AX� OU� OP� A� O<X�
 '�'
�� <� UO� A� OU� A� AO�
�D%� �̀ V� OV� A� >� A� UZ�

���� O<X� OP<� >U� >P� UA� A<<�
X² (df=16)=43.713; Wp = .000 � � � � � �
Wp�e�=<>�

	��*����$�%�TO����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	��������������%���$�%��D��_D
�	!�(��*���������.��%�*+���D���?)�+��(*�*+���
���+����+���
��!��
"
$���1�*�$�%���
)�=<>�	����-,�+��,f���@��

�
�(������
)��

�
��

�

�

�

�

�

�

�



 

�   

OOX�

 �	�!����<'�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

	��� ������*�%.�,�� ��	�*&���

�

��'�*�$�%����� �������.��%�*+���D��� �
� ��+�����

>B<<<�
)�$�

>B<<O5�
O>B<<<�
)�$�

O>B<<O5�
U>B<<<�
)�$�

U>B<<O5�
V>B<<<�
)�$�

V>B<<O�
)�$��
�
�,�

����

��	D�� UO� PP� V<� OP� OU� OAT�
������� UA� AA� OU� UX� >� OOV�
��']�� �(�*� VP� OP� X� A� <� PA�
���*���)���%� UA� UP� <� A� <� >P�
�D%� �̀ V� A� U� A� T� U<�

���� O<X� OP<� >U� >P� UA� A<<�
X² (df=16)=111.73; Wp =.027 � � � � � �
Wp�e�=<>�

	��*����$�%�TU����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	��������������'�*�$�%����	!�(��*���������.��%�*+���D����?)�+��(*�*+���
���+�����
��!��
"$��
�1�*�$�%���
)�=<>�	����-,�+�,f���@��

�
�(�������
)�

�
��

�

�

�

�

�

�



 

�   

OOZ�

 �	�!����<+�
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

�����:��"H8?�%.�,�� ��	�*&���

�

�D%� a�#�$�%���%������� �������.��%�*+���D��� �
� ��+�����

>B<<<�
)�$�

>B<<O5�
O>B<<<�
)�$�

O>B<<O5�
U>B<<<�
)�$�

U>B<<O5�
V>B<<<�
)�$�

V>B<<O�
)�$��
�
�,�

����

 $�$
���� ZU� OOT� AV� VZ� U<� VOO�
��$�-� A� X� <� OU� <� UA�
��
��D�?��?�� <� OP� X� A� A� VU�
,c�� a�#�� <� OU� <� <� <� OU�
�D%� �̀ OU� T� O� O� <� UO�

���� O<X� OP<� >U� >P� UA� A<<�
X² (df=16)=74.160;�Wp = .000 � � � � � �
Wp�e�=<>�

	��*����$�%�TV����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	�������������D%� a�#�	!�(��*���������.��%�*+���D���?)�+��(*�*+���
���+�����
��!��
"$��
�1�*�$�%���
)�=<>	����-,�+��,f���@��

�
�(�������
)�

�
��

�

�

�

�

�

�

�



 

�   

OU<�

 �	�!����<��
���1� ��IJKLMNOPQR���	�*����*�

��, � ��!$- ��		���	�	�"#
��$���%�	�&	��

����"H8?����� ����	�	�"#
%.�,�� ��	�*&���

�

 a�#�����*+����)�� C�� �������.��%�*+���D��� �
� ��+�����

>B<<<�
)�$�

>B<<O5�
O>B<<<�
)�$�

O>B<<O5�
U>B<<<�
)�$�

U>B<<O5�
V>B<<<�
)�$�

V>B<<O�
)�$��
�
�,�

����

)�� C�������� A� OP� A� A� <� UX�
)�� C��$+������ >U� O<A� VU� UA� OP� UUX�
)�� C������
�� >U� A<� OP� UX� X� OAA�

���� O<X� OP<� >U� >P� UA� A<<�
X² (df=8) =24.575; Wp = .002 � � � � � �
Wp�e�=<>�

	��*����$�%�TA����������������,���)�$��)����(*�*+��?d*��������)�� C���?��
�	������������ a�#�����*+����)�� C�	!�(��*���������.��%�*+���D���?)�+��(*�*+���
���+����
�
��!��
"$���1�*�$�%���
)�=<>�	����-,�+��,f���@��

�
�(�������
)�

�
��

�
�
�
�
�
�
�
�
�
�
�
�

�



 

�   

OUO�

������������������������
�����/������

���)�$)�0�	��
��!$- ��		���	�	�"#
��$���%�	�&	����!

����	�"#
%.�,�� ���(%%)*��!��	 ����
�
���2 �5������<��(%%)*������� #)?@���

���)�$)�0��)�$- ��		���	�	�"#
��$��

�%�	�&	���
�
�
�^� ,\		
��������*C
#Q��
)?d*��������)�� C���?���	����������+�������
�?
�@�

�
��
�
�
�^�,\		
��������*C
#Q��
)?d*��������)�� C���?���	���������������
�?
�@��
��

�

 �	�!����</
���1� ��IJKLMNOPQR������

���)�$)�0�	��
��!$- ��		���	�	�"#
��$���%�	�

&	����!����	�"#
%.�,�� ���(%%)*��!��	 ���������� #)?@��

�

$- ��		���	�	�"#
��$���%�	�&	��� �(%%)*������� #)?@��

� X²� p� Cramer’s V 

O=���*-��$�%��D���D%�� O<A=XPAW� =<<<� =UZP�
U=�����1�%&����)�� C�� PZ=>XOW� =<<<� =U<Z�
V=��+�&'�	+��*+���D��&����)�� C�� P<=U>PW� =<<<� =OZA�
A=�����$�%_D
��,0�,��	!�� >O=TXUW� =<<<� =U<X�
>=��1��$�%_D
�� �ZX=<PZW� =<<<� =UAX�
P=���%���$�%��D��_D
�� TO=<TXW� =<<<� =UOO�
T=���'�*�$�%����� T>=AXOW� =<<<� =UOT�
X=��D%� a�#�$�%���%������� OUA=PP<W� =<<<� =UTZ�
Z=� a�#�����*+����)�� C�� UX=PXXW� =<<O� =OXZ�
*p < .05�
�

�

�



 

�   

OUU�

	��*����$�%�T>���������������$���)�����
�?
�@�����+��?d*��������)�� C���
?���	�������������)�� C�	!�(��*��,\		
�$�����*����?)�+��,\		
��������*C
#Q���
�����
�?
�@��
)?d*��������)�� C���?���	�������&�$-��������+�����
��!��
"$���1�*�$�%
���
)�=<>�	����-,�+��,f���@��

�
�(�������
)�

�
�  �����
)�����
�?
�@�,���f�
���
�������*-��$�%

��D���D%������
)�����E$�%�+���
������ ��^=UZPK���������1�%&����)�� C������
)�����E$�%�+�
��
��������^=U<ZK������+�&'�	+��*+���D��&����)�� C������
)�����E$�%�+���
��������^=OZAK�����
����$�%_D
��,0�,��	!������
)�����E$�%�+���
������ ��^=U<XK������1��$�%_D
������
)�����E$�%�+�
��
������ ��^=UAXK�������%���$�%��D��_D
������
)�����E$�%�+���
������ ��^=UOOK�������'�*�$�%������
���
)�����E$�%�+���
������ ��^=UOTK������D%� a�#�$�%���%�����������
)�����E$�%�+���
������ ��
^=UTZK����� a�#�����*+����)�� C������
)�����EE$�%�+���
��������^=OXZK��

�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
��������



 

�   

OUV�

����������������������2 �5������C��(%%)*����	�
���

���)�$)�0��)�$- ��		���	�	�"#
��$���%�	�
&	���

�
�
�^�,\		
����������
)?d*��������)�� C���?���	����������+�������
�?
�@��
��

�
�
�^�,\		
����������
)?d*��������)�� C���?���	���������������
�?
�@��
��
�

 �	�!����<;�
���1� ��IJKLMNOPQR������

���)�$)�0�	��
��!$- ��		���	�	�"#
��$���%�	�

&	����!����	�"#
%.�,�� ���(%%)*��!��	 �������	�
��

�

$- ��		���	�	�"#
��$���%�	�&	��� �(%%)*����	�
��

� X²� p� Cramer’s V 

O=���*-��$�%��D���D%�� AP=TP>W� =<<<� =OZ>�
U=�����1�%&����)�� C�� OO>=UOZW� =<<<� =UPX�
V=��+�&'�	+��*+���D��&����)�� C�� PV=PPOW� =<<<� =OZZ�
A=�����$�%_D
��,0�,��	!�� OVA=ZZTW� =<<<� =VV>�
>=��1��$�%_D
�� PU=XVPW� =<<<� =OZX�
P=���%���$�%��D��_D
�� >Z=>PTW� =<<<� =OZV�
T=���'�*�$�%����� AX=XPPW� =<<<� =OT>�
X=��D%� a�#�$�%���%������� TT=ZX>W� =<<<� =UUO�
Z=� a�#�����*+����)�� C�� VA=VZAW� =<<<� =U<T�
*p < .05�

	��*����$�%�TP���������������$���)�����
�?
�@�����+��?d*��������)�� C���
?���	�������������)�� C�	!�(��*��,\		
�$�����*����?)�+��,\		
����������������
�?
�@��
)
?d*��������)�� C���?���	�������&�$-��������+�����
��!��
"$���1�*�$�%���
)�=<>�	����-,�+��
,f���@��

�
�(�������
)�

�
�  �����
)�����
�?
�@�,���f�
���
�������*-��$�%��D���D%������
)�����

E$�%�+���
������ ��^=OZ>K���������1�%&����)�� C������
)�����E$�%�+���
������ ��^=UPXK�����
�+�&'�	+��*+���D��&����)�� C������
)�����E$�%�+���
������ ��^=OZZK���������$�%_D
��,0�,��	!���
���
)�����E$�%�+���
��������^=VV>K������1��$�%_D
������
)�����E$�%�+���
��������^=OZXK�������%���
$�%��D��_D
������
)�����E$�%�+���
������ ��^=OZVK�������'�*�$�%���������
)�����E$�%�+���
������ ��
^=OT>K������D%� a�#�$�%���%�����������
)�����E$�%�+���
������ ��^=UUOK����� a�#�����*+����
)�� C������
)�����E$�%�+���
��������^=U<TK��



 

�   

OUA�

���2 �5������B��(%%)*������	%)�%.�����*��

���)�$)�0��)�$- ��		���	�	�"#
��

$���%�	�&	���
�
�
�^� ,\		
��������	
�	!���+���
)?d*��������)�� C���?���	�������� ��+��

�����
�?
�@��
��
�
�
�^�,\		
��������	
�	!���+���
)?d*��������)�� C���?���	���������������
�?
�@�

�
��
�

 �	�!����<<�
���1� ��IJKLMNOPQR������	��)�

���)�$)�0�	��
��!$- ��		���	�	�"#
��$��

�%�	�&	����!����	�"#
%.�,�� ���(%%)*��!��	 ���������	%)�%.�����*�

�

$- ��		���	�	�"#
��$���%�	�&	��� �(%%)*������	%)�%.�����*�

� X²� p� Cramer’s V 

O=���*-��$�%��D���D%�� AX=TTOW� =<<<� =U<U�
U=�����1�%&����)�� C�� OOT=<UAW� =<<<� =UT<�
V=��+�&'�	+��*+���D��&����)�� C�� TZ=VT>W� =<<<� =UUV�
A=�����$�%_D
��,0�,��	!�� UP=PVPW� =<<Z� =OAZ�
>=��1��$�%_D
�� PV=APZW� =<<<� =OXV�
P=���%���$�%��D��_D
�� A<=V<ZW� =<<O� =OPZ�
T=���'�*�$�%����� O>U=TPAW� =<<<� =V<Z�
X=��D%� a�#�$�%���%������� >O=PVZW� =<<<� =OTZ�
Z=� a�#�����*+����)�� C�� UP=<VZW� =<<O� =OX<�
*p < .05�

�

�

�

�

�



 

�   

OU>�

	��*����$�%�TT���������������$���)�����
�?
�@�����+��?d*��������)�� C���
?���	�������������)�� C�	!�(��*��,\		
�$�����*����?)�+��,\		
�����'+��$�����	
�	!���+��
�������
�?
�@��
)?d*��������)�� C���?���	�������&�$-��������+�����
��!��
"$���1�*�$�%
���
)�=<>�	����-,�+��,f���@��

�
�(�������
)�

�
�  �����
)�����
�?
�@�,���f�
���
�������*-��$�%

��D���D%������
)�����E$�%�+���
������ ��^=U<UK���������1�%&����)�� C������
)�����E$�%�+�
��
��������^=UT<K������+�&'�	+��*+���D��&����)�� C������
)�����E$�%�+���
��������^=UUVK�����
����$�%_D
��,0�,��	!������
)�����E$�%�+���
������ ��^=OAZK������1��$�%_D
������
)�����E$�%�+�
��
������ ��^=OXVK�������%���$�%��D��_D
������
)����E$�%�+���
������ ��^=OPZK�������'�*�$�%������
���
)�����E$�%�+���
������ ��^=V<ZK������D%� a�#�$�%���%�����������
)�����E$�%�+���
������ ��
^=OTZK����� a�#�����*+����)�� C������
)�����E$�%�+���
��������^=OX<K��

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�



 

�   

OUP�

���2 �5�������6��(%%)*������	��!��	����	 �����

���)�$)�0��)�$- ��		���	

�	�"#
��$���%�	�&	���
�
�
�^� ,\		
���������+���������*����
)?d*��������)�� C���?���	�������� ��+��

�����
�?
�@��
��
�
�
�^� ,\		
���������+���������*����
)?d*��������)�� C���?���	�������� ��

�����
�?
�@��
��
�

 �	�!����<C�
���1� ��IJKLMNOPQR������

���)�$)�0�	��
��!$- ��		���	�	�"#
��$���%�	�

&	����!����	�"#
%.�,�� ���(%%)*��!��	 ���������	��!��	����	 ����

�

$- ��		���	�	�"#
��$���%�	�&	��� �(%%)*������	��!��	����	 ����

� X²� p� Cramer’s V 

O=���*-��$�%��D���D%�� O<O=OVVW� =<<<� =UZ<�
U=�����1�%&����)�� C�� O<O=TU<W� =<<<� =U>U�
V=��+�&'�	+��*+���D��&����)�� C�� ZP=VVAW� =<<<� =UA>�
A=�����$�%_D
��,0�,��	!�� >Z=APPW� =<<<� =UUV�
>=��1��$�%_D
�� OO>=<UUW� =<<<� =UPX�
P=���%���$�%��D��_D
�� XV=ZPTW� =<<<� =UUZ�
T=���'�*�$�%����� OA>=>PPW� =<<<� =V<V�
X=��D%� a�#�$�%���%������� OAX=TP<W� =<<<� =V<>�
Z=� a�#�����*+����)�� C�� VZ=ZP>W� =<<<� =UUA�
*p < .05�
�

�
�
�

�

�



 

�   

OUT�

	��*����$�%�TX���������������$���)�����
�?
�@�����+��?d*��������)�� C���
?���	�������������)�� C�	!�(��*��,\		
�$�����*����?)�+��,\		
���������+���������*�����
�����
�?
�@��
)?d*��������)�� C���?���	�������&�$-��������+�����
��!��
"$���1�*�$�%
���
)�=<>�	����-,�+��,f���@��

�
�(�������
)�

�
�  �����
)�����
�?
�@�,���f�
���
�������*-��$�%

��D���D%������
)�����E$�%�+���
������ ��^=UZ<K���������1�%&����)�� C������
)�����E$�%�+�
��
��������^=U>UK������+�&'�	+��*+���D��&����)�� C������
)�����E$�%�+���
��������^=UA>K�����
����$�%_D
��,0�,��	!������
)�����E$�%�+���
������ ��^=UUVK������1��$�%_D
������
)�����E$�%�+�
��
������ ��^=UPXK�������%���$�%��D��_D
������
)�����E$�%�+���
������ ��^=UUZK�������'�*�$�%������
���
)�����E$�%�+���
������ ��^=V<VK������D%� a�#�$�%���%�����������
)�����E$�%�+���
������ ��
^=V<>K����� a�#�����*+����)�� C������
)�����E$�%�+���
��������^=UUAK��

�
�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�



 

�   

OUX�

 �	�!����<B��	2�����	�������� �5���

�

��� �5��� *��	)��T��U���0�

���*�/��$�%�O� ���)�� C�$�%���?�*+���
���?d*��������)�� C���?��
�	�������(*�*+���
��

����
)�

���*�/��$�%�U� ���)�� C�$�%�����-*+���
���?d*��������)�� C���?��
�	�������(*�*+���
��

����
)�

���*�/��$�%�V� ���)�� C�$�%���1��C�?*+���
���?d*��������)�� C���
?���	�������(*�*+���
��

����
)�

���*�/��$�%�A� ���)�� C�$�%�����
)��������*+���
���?d*��������)�� C�
��?���	�������(*�*+���
��

����
) 

���*�/��$�%�>� ���)�� C�$�%����'�?*+���
���?d*��������)�� C���?��
�	�������(*�*+���
��

����
)�

���*�/��$�%�P� ���)�� C�$�%��������*+���
���?d*��������)�� C���?��
�	�������(*�*+���
��

����
)�

���*�/��$�%�T� ,\		
��������*C
#Q��������
�?
�@��
)?d*��������
)�� C���?���	��������

����
) 

���*�/��$�%�X� ,\		
����������������
�?
�@��
)?d*��������)�� C���
?���	��������

����
) 

���*�/��$�%�Z� ,\		
�����'+��$�����	
�	!���+���������
�?
�@��
)
?d*��������)�� C���?���	��������

����
) 

���*�/��$�O<� ,\		
���������+������*����������
�?
�@��
)?d*�����
���)�� C���?���	��������

����
) 

�
�


